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MAIS AP B HI 148,140 156,540 A 8,400
FOXXAE LHASY Y HOAAE K& 101,650 110,050 A 8,400
FOXXNAEH 24 60,000 60,000 0
201 et d| 60,000 60,000 0
01 AR 22l ] 60,000 60,000 0
OFQXXHEH 24 60,000,000 60,000
FOIEHOI Al A X & 39,150 47,550 A 8,400
201 gEt24d| 16,370 30,370 A 14,000
02 =224 H| 16,370 16,370 0
OFANLRIHAIAE 2d= 200,000& x12& 2,400
O2Z2IHIOIEHSEANES: 892 160,000& »12& 1,920
OXgs Xl 5,500,000 5,500
OB L ALAHPY 248
650,000 650
OFIIGHES bl L MIBY +48
200,000& 200
O&FAS X H] 3,000,000 3,000
OFZIEZELNE 700,000 700
OF=£xJ| & dHld 2= 2,000,000& 2,000
203 €2 F=&d| 1,580 1,980 A 400
03 Al ZH =X 2= XIH| 1,580 1,980 AN 400
OSHUR2AI#ME=A 1,580,000 1,580
401 AlEHIZL 201 Y| 15,000 14,000 1,000
01 Al&H| 15,000 14,000 1,000
SFUMEH ARZAE X € SAE 4|
7,000,000& 7,000
O BAN =AY 8,000,000 8,000
405 XHAHFIEHI 6,200 1,200 5,000
01 XAt 2 EF S| 6,200 1,200 5,000
OdeHIOIeH HESIEX L HASIHT #¢
A X 1,200,000 1,200
OsZF0UMEH Ulls A 2 5,000,000 5,000
HEUEE 25=0 A 29 2,500 2,500 0
201 et 9| 2,500 2,500 0
03 A2 H| 2,500 2,500 0
OBbl==0| #HAFEH| 2,500,000& 2,500
ScleE 2584 46,490 46,490 0
ScletAE S8 AN 46,490 46,490 0
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Os&E=+¢ 200,000& x13H «12& 31,200
OsZdNH= 200,000& 13 *23| 5,200
OsH3dgHE 20,000 x13H »23| x12& 6,240
Ot & =l 50,0003 «77H *13] 3,850
HHSAAY (MO1S) 80, 168 82,273 A2,105
AHA2IH(MA1S) 24,048 22,933 1,115
AFOIHH (MAIS) 24,048 22,933 1,115
101 @124l 24,048 22,933 1,115
03 I AHA2ZZHE > 24,048 22,933 1,115
OFAZelLENRY 24,048
-Jl=s 862,400 x1H «12& 10,349
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-8 E F Ol 862,400 x60%*23| 1,035
s 20,0003 «2H 128 480
J=23H(MH1S) 56,120 59,340 A 3,220
=23 (4H18) 56,120 59,340 23,220
201 2Bt | 31,320 32,560 A 1,240
01 At 22/l 8,920 10, 160 A 1,240
ORM2Y AMR222HI(BES) 8,920,000 8,920
02 =224l 22,400 22,400 0
OHIIRa 18,000,000 18,000
O&ot=ER3 1,700,000& 1,700
OofERza 2,700,000& 2,700
202 044l 16,800 17,160 A 360
01 SLHOIYI 16,800 17,160 A 360
O22d&Z 0l 1,440,000 1,440
OJl2ge=a8ntl(8Y) 15,360,000 15,360
203 YR =&l 8,000 9,620 A 1,620
01 JI22E =4 5,280 6,600 21,320
OJ&228 g2 =4l 5,280,000 5,280
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